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Q-1 Choose correct answer (Attempt all) [10]
1. Human Language converted to Computer Language by
{A) Control Unit {C) Input Unit
{B} CPU (D) None of these
2. Conversion of Computer Coded Language into Human Acceptable form is done by
(A) Control Unit {C} Input unit
{B) CPU (D) None of these
3. The computer which supports needs of thousands of usersis
(A) Network {C) super computer
(B} mainframe computer {D) None of these
4. is example of magnetic storage device,
{A) CD ROM (C) Data
(B) Hard disk (D) None of these
5 The process of mapping a magnetic disk surface is called
{ A) Scanning. (C} formatting
(B) accessing {D)None of these
6 Intelligent smart card contains their own L
‘ (A) Microprocessor {C) keyhoard
(B} flash (D) None of these
7 Special modified keyboard has keys.
{A) One (C) Three
(B)Two (D} None of these
8 Barcode reader is special type of
{A) Printer {C) scanner
(B} Game-pad (D) None of these.
9 640x480 pixels is the specification of )
(A) size {C} Refresh Rate
{B) resolution {D) none of above
10  Colour Inkjet Printer is also known as _ Printer
(A) Two Colour (C) CAM
(B) non impact {0} None of these
Q-2 Do as Directed
A Filling the Blanks with appropriate answer (Attempt all) (04)
1 register holds current instruction that iis being excecuted.
2 One pixel in colour T.V. contains green, blueand colour
phosphors.
3 in computer Mouse are of two types mechanicaland
4 In to-days smart phone and mobiles ____ operating system is used.
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State whether following statements are true or false
Magnetic tape is a sequential device.
Program counter in computer holds results.

The largest type of computer in common use is main frame computer.

Intelligent terminal has its own processor.

Answer the following question in short. (Attempt any 10)
Define access time in primary storage devices

Define sequential access device.

What is Cache Memory?

Explain ROM in brief.

Explain Flash Memory,

Explain EPROM in brief.

Explain smart card.

Write a note on digital camera,

Write_a note on Bar-code reader.

List types of Monitor.
Define impact printer.
Define Non-impact printer.

Answer the following (Attempt any four).

Draw the block diagram showing basic organization of computer system & Explain
function of each block

List different type of Register use in computer and explain altin brief

Explain working of CD ROM in detail.

Write a note on Magnetic tape

List and explain different types of mouse in brief. Explain its use in detail.

What is Keyboard? List and explain its characteristics, Explain in brief any two
types of keys.

List different types of Printers and explain any two in detail.
Explain CRT monitars in hrief.
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